
ISSUED: 09-11-91  SHEET #: 124-9004/D 12-27-99

Visit the Peerless Web Site at www.peerlessindustries.com For customer service call 1-800-729-0307 or 708-865-8870.

1 of 2

LDM233K LDM233 LDM312

Part # Part # Part #       QTY. Description

A 1235-375K 1235-375 1235-371 1 upper tray

B 120-0017 120-0014 120-0016 1 lower tray

C 500-9006 500-9006 500-9006 4 #10  3/4" phillips screw

D 506-9058 506-9058 506-9058 4 #6  5/8" phillips screw

E 540-9400 540-9400 540-9400 8 small flat washer

F N/A 505-9010 505-9010 1 M5 - .8 x 10mm penta-pin

G 3022-502      N/A N/A 1 lock plug

H 0000-322      N/A N/A 1 lock key

J 590-1004 590-1004 590-1004 4 adhesive stud

K 530-9334 530-9334 530-9334 4 nylon nut

L 540-9401 540-9401 540-9401 4 1/4" flat washer

N/A 520-9249 520-9249 1 penta-pin tool (not shown)

Models:
LDM233K
LDM233
LDM312

Installation and Assembly - VCR Mounting Tray
���������	

Read entire instruction sheet before you
start assembly and installation.

Before you start make sure all parts listed below
are included with your product.Parts List

Some parts may appear slightly different than illustrated.

Drill four 1/8" dia. x 1" deep holes in mounting surface
using the lower tray (B) as a template. Attach lower tray
(B) to mounting surface with four #10 phillips screws (C)
and washers (E) as shown.

Alternative Installation: Peel off paper to expose adhesive
tape on bottom of lower tray (B) and attach to mounting
surface.

B

A

F

E L

C

D

G

H

J

B

C

E

K

11111



ISSUED: 09-11-91  SHEET #: 124-9004/D 12/27/99

Visit the Peerless Web Site at www.peerlessindustries.com For customer service call 1-800-729-0307 or 708-865-8870.

2 of 2

D

E

A A

J

K

22222

33333

L

A

B

G

H
A

A

3.13.13.13.13.1

3.23.23.23.23.2

F

Flip VCR upside down and remove the four outermost screws that attach bottom pan to VCR. Note: Do not remove pan when
removing the screws! Position upper tray (A) so that the holes on tray align with holes on VCR. Attach tray to VCR using four #6
phillips screws (D) and washers (E).

Alternative Installation: Flip VCR upside down and sec-urely attach four adhesive studs (J) to corners of VCR as shown. Before
adhering studs to VCR be sure each stud will penetrate a hole in the random perforated hole pattern on upper tray (A)!
Place upper tray (A) on VCR as shown. Attach studs to tray using four nylon nuts (K) and 1/4" washers (L). Hand tighten nylon
nuts!

(VCR has been omitted from illustration for clarity.)
Slide upper tray (A) with mounted VCR onto lower tray
(B) a shown.

Model 233 & 312 - Insert M5 penta-pin screw (F) using
penta-pin tool into upper tray (A) as shown.

Model 233K - Install lock plug (G) and lock key (H)
into upper tray (A) as shown.

Note: Use lock key (H) to turn
(clockwise) the lock plug (G) in lock
barrel. Securely tighten - key must
be in horizontal position to be
removed.

© 2001 Peerless Industries, Inc.  All rights reserved.
Peerless is a trademark of Peerless Industries, Inc.


